CONTRACT NO. 8806

		S&L Undergroun d, Inc.		Parisi Construction, LLC	Speedway Sand & Gravel, Inc.	LaLonde Contractors, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
Section B: Proposal Page	•						
10701 - TRAFFIC CONTROL - LUMP SUM	1.00	\$3,700.00	\$3,700.00	\$3,900.00	\$3,700.00	\$3,700.00	\$3,000.00
10713 - TEMPORARY CROSSWALK ACCESS - EACH	4.00	\$195.00	\$780.00	\$500.00	\$450.00	\$924.00	\$1,100.00
10730 - PROJECT INFORMATION SIGN - EACH	2.00	\$201.00	\$402.00	\$200.00	\$199.00	\$199.00	\$350.00
10770 - MAINTAIN RESIDENTIAL DRIVEWAY ACCESS -							
EACH	8.00	\$1,000.00	\$8,000.00	\$100.00	\$678.00	\$689.00	\$560.00
10801 - ROOT CUTTING - CURB & GUTTER							
(UNDISTRIBUTED) - L.F.	100.00	\$11.00	\$1,100.00	\$10.00	\$0.01	\$17.27	\$0.01
10802 - ROOT CUTTING - SIDEWALK (UNDISTRIBUTED) -							
L.F.	100.00	\$11.00	\$1,100.00	\$10.00	\$0.01	\$17.27	\$0.01
10911 - MOBILIZATION - L.S.	1.00	\$108,859.00	\$108,859.00	\$144,000.00	\$121,615.00	\$93,188.82	\$121,794.83
20101 - EXCAVATION CUT							
- C.Y.	3600.00	\$22.40	\$80,640.00	\$28.00	\$31.05	\$29.71	\$28.40
20110 - TERRACE EXCAVATION FOR TREE PLANTING -							
C.Y.	50.00	\$60.80	\$3,040.00	\$58.00	\$70.00	\$71.70	\$99.00
20130 - UNDERDRAIN - L.F.	300.00	\$15.30	\$4,590.00	\$20.00	\$23.10	\$35.00	\$25.00
20140 - GEOTEXTILE FABRIC TYPE SAS (NON-WOVEN)							
- S.Y.	900.00	\$2.60	\$2,340.00	\$2.50	\$2.00	\$7.45	\$2.50
20217 - CLEAR STONE - TON	520.00	\$20.80	\$10,816.00	\$20.25	\$9.55	\$24.37	\$22.00
20219 - BREAKER RUN - TON	700.00	\$14.60	\$10,220.00	\$15.75	\$15.75	\$18.94	\$19.25
20221 - TOPSOIL - S.Y.	2800.00	\$8.00	\$22,400.00	\$8.50	\$10.95	\$6.95	\$9.50
20303 - SAWCUT ASPHALT PAVEMENT - L.F.	190.00	\$2.60	\$494.00	\$2.50	\$2.15	\$2.35	\$2.35
20311 - REMOVE SEWER ACCESS STRUCTURE - EACH	2.00	\$1,033.00	\$2,066.00	\$625.00	\$678.00	\$935.00	\$480.00
20314 - REMOVE PIPE - L.F.	84.00	\$40.00	\$3,360.00	\$55.00	\$51.00	\$36.50	\$37.00
20322 - REMOVE CONCRETE CURB & GUTTER - L.F.	3700.00	\$3.00	\$11,100.00	\$3.50	\$4.70	\$6.41	\$6.20
20323 - REMOVE CONCRETE SIDEWALK & DRIVE - S.F.	8100.00	\$2.80	\$22,680.00	\$1.75	\$2.30	\$1.26	\$3.00
20335 - ABANDON SEWER PIPE WITH SLURRY - C.Y.	3.50	\$870.00	\$3,045.00	\$225.00	\$730.00	\$550.00	\$1,500.00
20501 - ADJUST SEWER ACCESS STRUCTURE							
(UNDISTRIBUTED) - EACH	1.00	\$1,222.00	\$1,222.00	\$500.00	\$1,800.00	\$625.00	\$600.00

CONTRACT NO. 8806

		S&L Undergroun d, Inc.		Parisi Construction, LLC	Speedway Sand & Gravel, Inc.	LaLonde Contractors, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
20506 - ADJUST SEWER ACCESS STRUCTURE							
CASTING - EACH	1.00	\$1,244.00	\$1,244.00	\$1,900.00	\$2,200.00	\$625.00	\$1,225.00
20701 - TERRACE SEEDING - S.Y.	2800.00	\$1.00	\$2,800.00	\$1.00	\$1.00	\$2.15	\$2.50
21002 - EROSION CONTROL INSPECTION - EACH	2.00	\$505.00	\$1,010.00	\$250.00	\$250.00	\$469.00	\$300.00
21011 - CONSTRUCTION ENTRANCE - EACH	3.00	\$1,194.00	\$3,582.00	\$100.00	\$321.00	\$1,556.00	\$630.00
21012 - STREET CONSTRUCTION ENTRANCE BERM							
(UNDISTRIBUTED) - EACH	1.00	\$287.00	\$287.00	\$100.00	\$321.00	\$1,556.00	\$810.00
21013 - STREET SWEEPING - LUMP SUM	1.00	\$1,524.00	\$1,524.00	\$1,000.00	\$3,190.00	\$7,560.00	\$5,900.00
21015 - STREET CONSTRUCTION STONE BERM - EACH	10.00	\$215.00	\$2,150.00	\$100.00	\$234.00	\$1,556.00	\$270.00
21017 - SILT SOCK (8 INCH) - COMPLETE - L.F.	100.00	\$6.06	\$606.00	\$6.25	\$6.00	\$7.95	\$8.00
21031 - INLET PROTECTION, TYPE C - COMPLETE -		ψ0.00	Ψ000.00	ψσ	ψο.σσ	4.100	Ψ0.00
EACH	2.00	\$75.76	\$151.52	\$75.00	\$75.00	\$80.00	\$200.00
21049 - INLET PROTECTION, RIGID FRAME - PROVIDE		, -	,	,	,	,	,
& INSTALL - EACH	20.00	\$252.53	\$5,050.60	\$250.00	\$250.00	\$250.00	\$350.00
21050 - INLET PROTECTION, RIGID FRAME - MAINTAIN -		·	, ,	·		·	•
EACH	20.00	\$25.25	\$505.00	\$25.00	\$25.00	\$50.00	\$200.00
21051 - INLET PROTECTION, RIGID FRAME - REMOVE -							
EACH	20.00	\$25.25	\$505.00	\$25.00	\$25.00	\$30.00	\$100.00
21063 - EROSION MATTING, CLASS I, TYPE A -							
ORGANIC - S.Y.	2800.00	\$2.27	\$6,356.00	\$2.30	\$2.25	\$1.85	\$2.80
21110 - TERRACE RAIN GARDEN - SF	750.00	\$11.30	\$8,475.00	\$19.00	\$13.28	\$4.45	\$29.00
30201 - TYPE 'A' CONCRETE CURB & GUTTER - L.F.	3600.00	\$24.44	\$87,984.00	\$26.00	\$35.50	\$29.22	\$24.44
30203 - TYPE 'X' CONCRETE CURB & GUTTER - L.F.	150.00	\$44.34	\$6,651.00	\$45.00	\$40.50	\$35.61	\$44.34
30208 - HAND FORMED CONCRETE CURB & GUTTER							
(UNDISTRIBUTED) - L.F.	100.00	\$40.91	\$4,091.00	\$45.00	\$41.65	\$59.66	\$40.91
30302 - 5 INCH CONCRETE SIDEWALK - S.F.	3350.00	\$7.95	\$26,632.50	\$7.50	\$8.40	\$8.93	\$8.55
30304 - 7 INCH CONCRETE SIDEWALK AND DRIVE - S.F. 30340 - CURB RAMP DETECTABLE WARNING FIELD -	6500.00	\$8.38	\$54,470.00	\$8.75	\$9.60	\$9.98	\$9.35
S.F.	190.00	\$45.45	\$8,635.50	\$41.50	\$63.30	\$46.99	\$45.45

CONTRACT NO. 8806

		S&L Undergroun d, Inc.		Parisi Construction, LLC	Speedway Sand & Gravel, Inc.	LaLonde Contractors, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
40101 - CRUSHED AGGREGATE BASE COURSE	-						
GRADATION NO. 1 - TON	2600.00	\$19.60	\$50,960.00	\$20.25	\$17.45	\$21.78	\$25.00
40102 - CRUSHED AGGREGATE BASE COURSE							
GRADATION NO. 2 - TON	3100.00	\$19.60	\$60,760.00	\$16.25	\$20.75	\$21.83	\$25.00
40202 - HMA PAVEMENT 4 LT 58-28 S - TON	1200.00	\$80.05	\$96,060.00	\$82.00	\$79.25	\$79.25	\$80.05
40218 - TACK COAT - GAL.	570.00	\$0.10	\$57.00	\$0.10	\$0.10	\$0.10	\$0.10
40231 - ASPHALT DRIVE & TERRACE (UNDISTRIBUTED)							
- S.Y.	50.00	\$37.00	\$1,850.00	\$20.50	\$20.00	\$20.00	\$50.00
40362 - ADJUST ACCESS STRUCTURE CASTING -							
RESURFACING - EACH	5.00	\$404.00	\$2,020.00	\$625.00	\$515.00	\$625.00	\$860.00
50211 - SELECT BACKFILL FOR STORM SEWER - T.F.	1341.00	\$0.01	\$13.41	\$0.01	\$0.01	\$1.00	\$0.01
50212 - SELECT BACKFILL SANITARY SEWER - T.F.	526.00	\$0.01	\$5.26	\$0.01	\$0.01	\$1.00	\$0.01
50301 - 8 INCH PVC SANITARY SEWER PIPE - L.F.	466.00	\$130.00	\$60,580.00	\$115.00	\$132.43	\$131.25	\$138.00
50353 - SANITARY SEWER LATERAL - L.F.	50.00	\$73.90	\$3,695.00	\$38.50	\$52.56	\$35.00	\$47.00
50356 - RECONNECT - EACH	2.00	\$2,726.00	\$5,452.00	\$3,700.00	\$4,827.00	\$3,250.00	\$7,000.00
50361 - WASTEWATER CONTROL - L.S.	1.00	\$1.00	\$1.00	\$500.00	\$5,700.00	\$2,785.00	\$5,000.00
50401 - 12 INCH TYPE I RCP STORM SEWER PIPE - L.F.	242.00	\$106.60	\$25,797.20	\$95.00	\$88.50	\$87.00	\$141.00
50402 - 15 INCH TYPE I RCP STORM SEWER PIPE - L.F.	102.00	\$109.40	\$11,158.80	\$95.00	\$98.20	\$98.00	\$144.00
50403 - 18 INCH TYPE I RCP STORM SEWER PIPE - L.F.	461.00	\$105.70	\$48,727.70	\$107.00	\$99.43	\$103.00	\$145.00
50499 - CONCRETE COLLAR (UNDISTRIBUTED) - EACH 50622 - 19 INCH X 30 INCH TYPE I HERCP STORM	1.00	\$647.60	\$647.60	\$550.00	\$645.00	\$895.00	\$965.00
SEWER PIPE - L.F.	536.00	\$188.70	\$101,143.20	\$170.00	\$173.76	\$184.00	\$215.00
50701 - 4' DIA. SANITARY SAS - EACH	5.00	\$4,664.00	\$23,320.00	\$5,800.00	\$5.117.00	\$6,500.00	\$4,200.00
50711 - INTERNAL CHIMNEY SEAL - EACH	3.00	\$492.00	\$1,476.00	\$550.00	\$359.20	\$610.00	\$365.00
50722 - 6'X6' CATCHBASIN - EACH	1.00	\$13,687.00	\$13,687.00	\$13,500.00	\$13,400.00	\$7,500.00	\$15,900.00
50723 - 3'X3' STORM SAS - EACH	7.00	\$4,071.00	\$28,497.00	\$4,900.00	\$4,600.00	\$3,615.00	\$5,000.00
50724 - 4'X4' STORM SAS - EACH	6.00	\$4,795.00	\$28,770.00	\$6,000.00	\$5,700.00	\$4,325.00	\$5,600.00
50741 - TYPE H INLET - EACH	12.00	\$2,954.00	\$35,448.00	\$3,700.00	\$3,761.00	\$2,995.00	\$3,315.00
		. ,	. ,	. ,		. ,	. ,

CONTRACT NO. 8806

		S&L Undergroun d, Inc.		Parisi Construction, LLC	Speedway Sand & Gravel, Inc.	LaLonde Contractors, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
50791 - SANITARY SEWER TAP - EACH	3.00	\$1,618.00	\$4,854.00	\$4,000.00	\$1,305.00	\$2,135.00	\$1,735.00
50792 - STORM SEWER TAP (UNDISTRIBUTED) - EACH 50801 - UTILITY LINE OPENING (UNDISTRIBUTED) -	1.00	\$960.00	\$960.00	\$1,400.00	\$1,150.00	\$1,500.00	\$965.00
EACH 60812 - PAVEMENT MARKING EPOXY, CROSSWALK, 6-	35.00	\$730.00	\$25,550.00	\$710.00	\$690.00	\$985.00	\$715.00
INCH - L.F. 60816 - PAVEMENT MARKING EPOXY, CONTINENTAL	75.00	\$9.50	\$712.50	\$9.75	\$10.00	\$9.50	\$7.25
CROSSWALK, 18-INCH, WHITE - L.F. 60818 - PAVEMENT MARKING EPOXY, STOP LINE, 24-	225.00	\$17.25	\$3,881.25	\$17.75	\$15.00	\$17.25	\$20.75
INCH - L.F.	15.00	\$19.00	\$285.00	\$19.50	\$18.00	\$19.00	\$22.40
60881 - PAVEMENT MARKING REMOVAL, 6-INCH - L.F.	125.00	\$2.00	\$250.00	\$5.40	\$5.00	\$5.25	\$4.50
70101 - FURNISH AND INSTALL STYROFOAM - EACH	18.00	\$139.00	\$2,502.00	\$155.00	\$171.00	\$150.00	\$125.00
70104 - ADJUST WATER VALVE BOX - EACH	4.00	\$508.00	\$2,032.00	\$475.00	\$415.00	\$215.00	\$300.00
90030 - RELOCATE WATER SERVICE LATERAL - EACH	9.00	\$1,000.00	\$9,000.00	\$1,000.00	\$1,490.00	\$3,565.00	\$1,465.00
90031 - RELOCATE WATER MAIN - EACH	9.00	\$3,565.00	\$32,085.00	\$2,000.00	\$3,333.00	\$5,250.00	\$6,400.00
75 Items	Totals		\$1,206,902.04	\$1,252,187.67	\$1,319,120.14	\$1,333,687.82	\$1,442,000.00